9 step series based only on the visual ajustment of image 1 with value *0.50" o different

9 step series based on all visual adjustments used for output linearization

@=0,25 =037 @=050 =062 @=0,75 =087 1,00
save 9 data below as text
£10.04 " 14+0.04 5 188+0,04 | 84+0,04 7 [MF+0.04 T JB+0.04 TM-0.07 ]

000 =012 =025 3037 =050 050,62 c=0,75 7=0,87 1,00

adjust and proof threshold of
difference visible? & e B e inearized output

restart with image 1

her91-4a, image 4, adjust visual threshold (+0,047?) of 9 ste|



